1 c 3 4 ® 6 ‘ / 8 9 10 11 e

Parts List
NOTES A TEM TAG DESCRIPTION MATERIAL QrY
1> TEST PROCEDURE - 1 ELBOW DN25 BW 90° EN 10253—-2 TYPE 3D 2,77mm WALL THICKNESS ST. STEEL EN 10253—-4  1,4404 2
SEE LEAK & HYDROSTATIC TEST DOCUMENT No. &AD T-PE 9430 S01-51-PA-E-97273 2 ELBOW DN50 BW 90° EN 10253—-2 TYPE 3D 2,9mm WALL THICKNESS ST. STEEL EN 10253—-4  1,4404 4
3 ELBOW DN80 BW 90° EN 10253—2 TYPE 3D 3,05mm WALL THICKNESS ST. STEEL EN 10253—4  1,4401/1,4404 1
2> WELD TEST PRUCEDURE := . 4 S101 FILTER DN80 PLENTY DUPLEX MODEL No. SPX FORM B PN16 FLANGES 1
ALL BUTT WELDS TO BE GI\/I:ZN 10% RADIOGRAPHY, 5 FLANGE DN15 FORM B PN16 WN TYPE 11 ST. STEEL EN 10200-5  1.4401/1.4404 >
A ALL FILLET WELDS TO B.E 10%Z DYE PENETRANT TESTED. 5 FLANGE DN25 FORM B PN16 WN TYPE 11 ST. STEEL EN 10222-5  1,4401/1,4404 2
ALL PIPEWURK TO BE 107 PML 7 FLANGE DN50 FORM B PN16 WN TYPE 11 ST. STEEL EN 10222-5  1,4401/1,4404 13
IN ACCORDANCE WITH INSPECTION AND TEST PLAN A 8 FLANGE DN65 FORM B PN16 WN TYPE 11 ST. STEEL EN 10222—5 _ 1,4401/1,4404 5
SEE SELAS DOCUMENT Noi= &AD T-PE 9401 SO0I-31-PA-E-97/314 9 FLANGE DN80 FORM B PN16 WN TYPE 11 ST. STEEL EN 10222-5  1,4401/1,4404 7
QSN\Q 3y WATER SKID ASSEMBLY 10 GASKET FLAT SPIRAL WOUND 3,2mm THICK TO SUIT DN15 FORM B PN16 FLANGE ST. STEEL EN 1514—2 1,4401 METAL OUTER/INNER RINGS 4
DN 12 GASKET FLAT SPIRAL WOUND 3,2mm THICK TO SUIT DN50 FORM B PN16 FLANGE ST. STEEL EN 1514—2 1,4401 METAL OUTER/INNER RINGS 13
Q 1 | ng 4> VALVE / INSTRUMENT SCHEDULE 13 GASKET FLAT SPIRAL WOUND 3,2mm THICK TO SUIT DN65 FORM B PN16 FLANGE ST. STEEL EN 1514—2 1,4401 METAL OUTER/INNER RINGS 2
d)'}l NN DOCUMENT NUMBER = &AD J-LF 7230 S01-31-PA-E-97147 14 GASKET FLAT SPIRAL WOUND 3,2mm THICK TO SUIT DN80 FORM B PN16 FLANGE ST. STEEL EN 1514-2  1,4401 METAL OUTER/INNER RINGS 8
Ql\Q: | 39 15 RO107 ORIFICE PLATE ST. STEEL EN 10888-2  1,4301 1
N N < 24 16 PIPE DN20 x 2.87mm WALL THICKNESS x 1M LONG ST. STEEL EN 10216-5  1,4401/1,4404 1
R | 'V\( & 0 17 PIPE DN25 x 2,77mm WALL THICKNESS x 1.5M LONG ST. STEEL EN 10216-5  1,4401/1,4404 1
‘SQS S a 18 0
(’“§ 0 19 PIPE DN50 x 3,91Tmm WALL THICKNESS x 2M LONG ST. STEEL EN 10216-5  1,4401/1,4404 1
Q 20 PIPE DN80 x 3,05mm WALL THICKNESS x 1.5M LONG ST. STEEL EN 10216-5  1,4401/1,4404 1
0 21 P1B PUMP VERDER CENTRIFUGAL 1
\\ 22 P1A PUMP VERDER CENTRIFUGAL 1
23 REDUCER CONCENTRIC DN80 x DN65 BW EN 10253-2 ST. STEEL EN10253—-4  1,4404 2

2,9mm WALL THICKNESS

24 AT 62 SENSOR Ph TRANSMITTER TYPE:— LIQUILINE M CM42 DN25 FORM B PN16 FLANGES [ENDRESS & HAUSER 1
25 STUD BOLT M12 x 75 LG. C/W HEAVY NUTS ST. STEEL EN 58H 16
26 STUD BOLT M12 x 80 LG. C/W HEAVY NUTS ST. STEEL EN 58H 20
27 STUD BOLT M16 x 105 LG. C/W HEAVY NUTS ST. STEEL EN 58H 16
28 STUD BOLT M16 x 150 LG. C/W HEAVY NUTS ST. STEEL EN 58H 8
29 STUD BOLT M16 x 90 LG. C/W HEAVY NUTS ST. STEEL EN 58H 36
30 STUD BOLT M16 x 95 LG. C/W HEAVY NUTS ST. STEEL EN 58H 52
31 TEE STRAIGHT DN50 BW EN 10253—2  2,9mm WALL THICKNESS ST. STEEL EN 10253—4  1,4404 1
32 TEE STRAIGHT DN80 BW EN 10253—2  3,2mm WALL THICKNESS ST. STEEL EN 10253—-4  1,4404 1
33 FCV511005 VALVE — NON—RETURN (WAFER TYPE) TO SUIT DN50 FORM B PN16 FLANGE ST. STEEL 1,4571 — GESTRA FLOWSERVE 1
34 FCV511004 VALVE — NON—RETURN (WAFER TYPE) TO SUIT DN50 FORM B PN16 FLANGE ST. STEEL 1,4571 — GESTRA FLOWSERVE 1
35 HV511042 VALVE BALL MANUAL DN15 FORM B PN16 FLANGES BAC/FB 1
36 HV511048 VALVE BALL MANUAL DN15 FORM B PN16 FLANGES BAC/FB 1
37 HV511049 VALVE BALL MANUAL DN20 CONNECTIONS:— 1 END BW — 1 END 3/4” NPT THREAD |VINCO SF SERIES 1
38 HV501160 VALVE BALL MANUAL DN20 CONNECTIONS:— 1 END BW — 1 END 3/4” NPT THREAD |VINCO SF SERIES 1
39 HV501161 VALVE BALL MANUAL DN20 CONNECTIONS:— 1 END BW — 1 END 3/4” NPT THREAD |VINCO SF SERIES 1
40 HV511044 VALVE BALL MANUAL DN20 CONNECTIONS:— 1 END BW — 1 END 3/4” NPT THREAD |VINCO SF SERIES 1
41 HV511050 VALVE BALL MANUAL DN25 FORM B PN16 FLANGES BAC/FB 1
42 HV511051 VALVE BALL MANUAL DN25 FORM B PN16 FLANGES BAC/FB 1
43 HV511047 VALVE BALL MANUAL DN50 FORM B PN16 FLANGES BAC/FB 1
44 HV511046 VALVE BALL MANUAL DN50 FORM B PN16 FLANGES BAC/FB 1
45 HV511041 VALVE BALL MANUAL DN8O FORM B PN16 FLANGES BAC/FB 1
46 HV511043 VALVE BALL MANUAL DNBO FORM B PN16 FLANGES BAC/FB 1
47 HV511045 VALVE BALL MANUAL DN8O FORM B PN16 FLANGES BAC/FB 1
48 WASHER PLAIN FORM 'C’ #12 ST. STEEL EN 14399  1,4307 72
49 WASHER PLAIN FORM 'C’ #16 ST. STEEL EN 14399  1,4307 240
50 0
51 0
52 0
53 0
54 0
55 FLANGE BLIND DN15 FORM B PN16 TYPE 05 ST. STEEL EN 10222-5  1,4401/1,4404 2

Stk DRAWING No. Po184—-005/ FOR WELD PLAN
801—51—PA—E—97286A

SL-No: 711 18006
X7 A - review for SL basi
asic do
conformity only cuments
3 g - No comments / work may proceed
- comments to be considereq: revise and
{esubmlt / work may proceed: subject
5 O Incorporation of comments indicated
ID- comments to be considereg: revise and
resubmit / work may not proceed
E - noted: not subject to review
Permission to proceed

___________________________________________________ 1—P5184—0063 (8)
04
03
0e 23/2/21 Client Numbers Updated AH KC KC
01 29/11/19 First Issue AH DLS KC
REV | DATE PURPOSE OF ISSUE PREPARED CHECKED APPROVED
C;{JMEL For Buyer use / Wypetnia Zamawiajacy
The Swinoujscie LNG Terminal Expansion Project Status preegladu preeq Date dete
Contract No / Numer Umowy: Buyer review status
IMPORTANT NOTE. - U122/2019 samavinicege
UTILISE THIS WATER CIRCULATION ISOMETRIC Reviewed with
DRAWING IN CONJUNCTION WITH THE Contractor Job. no./Nr Projektu Wykonawcy| |sprawdzono z uwagami
WATER FILL/NOx WATER ISOMETRIC AND WATER IMPORTANT NOTE. 711 18006 - Swinoujscie_01 3 _
l__ I |_ |_ A N D C D D |_ I N G P I P E \/\/ D R |< S |< I D G ' A ' j’z Contractor doc. No/ Numer dok. Wykonawcy | Rev. / Rew. ::‘r:vv::::::::::o
DRAWINGS (P5184-0060/2>, SO01-51-PC-D-97356 of 37 DO NOT FINALLY WELD & PAINT THE PIPING SAD R.7E 2063 | 02
AND S01-351-PC-D-9/3958 WHEN BUILDING UP THIS 705* SPOOLS UNTIL THEY HAVE BEEN 'BLACK BUILTY Selas-Linde GmbH oy et oo No /4 . Zemawirooge. | Foe 17 Received for information
uyer Rel. aoc. No rrel. Zamawiajgcego ev. ew. i .
WATER SKID. AND ASSEMBLED ON THE WATER SKID, S e
TO ENSURE CORRECT FITTING AT FINAL ASSEMELY.
ﬁ,?ZCWETDLgK. DOCUMENT TITLE WATER CIRCULATION ISOMETRIC - SKID ggﬂf 1:15 i;ﬁﬁ;z 1
T B N e B OO Sormuts ghe Toa 5 5 " e S T e e ST e | 1) [==-4}) | IF_IN DOUBT ASK | NOTE:~REMOVE ALL SHARP EDGES |RERIEESOMBaueumami e o) commeron s nt oy e conmcron monr
DISCLOSED TO ANY THIRD PARTY, OR REPRODUCED IN WHOLE OR PART, WITHOUT THE PRIOR WRITTEN ORENTATON  + 1.0 DEG. 0 T0 1000mm % 1,5mm @V — UDZIELENIE ZGODY NA PRODUKCJE LUB SPRAWDZENIE DOKUMENTU WYKONAWCY PRZEZ ZAMAWIAJACEGO NIE ZWALNIA WYKONAWCY Z
CONSENT OF PROCESS COMBUSTION LTD. SQUARENESS ~ * 0,5 DEG. OVER 1000mm * 3,0mm ABOUT MAIN CENTRE LINES. THIRD ANGLE PROJECTION DO NOT SCALE THIS DRAWING PRODUCED ON A CAD SYSTEM DO NOT ALTER MANUALLY  |OBOWIAZKOW | ODPOWIEDZIALNOSCI WYNIKAJACYCH Z UMOWY.

1 c 3 ‘ 4 ® 6 ‘ / 8 3 10 11 12


AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
ALL BUTT WELDS TO BE GIVEN 10% RADIOGRAPHY.  ALL FILLET WELDS TO BE 10% DYE PENETRANT TESTED. ALL PIPEWORK TO BE 10% PMI. IN ACCORDANCE WITH INSPECTION AND TEST PLAN SEE SELAS DOCUMENT No:- &AD T-PE 9401  S01-51-PA-E-97314

AutoCAD SHX Text
SEE LEAK & HYDROSTATIC TEST DOCUMENT No. &AD T-PE 9430  S01-51-PA-E-97273

AutoCAD SHX Text
NOTES

AutoCAD SHX Text
4) VALVE / INSTRUMENT SCHEDULE

AutoCAD SHX Text
DOCUMENT NUMBER :- &AD J-LF 7250  S01-51-PA-E-97147

AutoCAD SHX Text
DRAWING NUMBER : &AD R-ZE 2060  S01-51-PC-D-97356

AutoCAD SHX Text
1) TEST PROCEDURE :-

AutoCAD SHX Text
2) WELD TEST PROCEDURE :-

AutoCAD SHX Text
3) WATER SKID ASSEMBLY

AutoCAD SHX Text
80

AutoCAD SHX Text
705+100

AutoCAD SHX Text
180

AutoCAD SHX Text
(DETAIL 'K' ON DRG.

AutoCAD SHX Text
ELEV +0.750m

AutoCAD SHX Text
PUMP

AutoCAD SHX Text
CASING

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
80NB

AutoCAD SHX Text
50NB

AutoCAD SHX Text
171

AutoCAD SHX Text
180

AutoCAD SHX Text
(TYP)

AutoCAD SHX Text
3,2

AutoCAD SHX Text
DRG. &AD R-ZE 2062

AutoCAD SHX Text
WATER JACKET

AutoCAD SHX Text
50NB

AutoCAD SHX Text
240

AutoCAD SHX Text
125

AutoCAD SHX Text
250

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
25NB

AutoCAD SHX Text
125

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
230

AutoCAD SHX Text
146

AutoCAD SHX Text
117

AutoCAD SHX Text
117

AutoCAD SHX Text
3

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
SEE DRAWING No. P5184-0557 FOR WELD PLAN                S01-51-PA-E-97286S01-51-PA-E-9728651-PA-E-97286

AutoCAD SHX Text
SITE

AutoCAD SHX Text
WELD

AutoCAD SHX Text
25NB

AutoCAD SHX Text
IMPORTANT NOTE. DO NOT FINALLY WELD & PAINT THE PIPING  SPOOLS UNTIL THEY HAVE BEEN 'BLACK BUILT'  AND ASSEMBLED ON THE WATER SKID,  TO ENSURE CORRECT FITTING AT FINAL ASSEMBLY.

AutoCAD SHX Text
3,2

AutoCAD SHX Text
90

AutoCAD SHX Text
SUPPLY 50 NB

AutoCAD SHX Text
194

AutoCAD SHX Text
3,2

AutoCAD SHX Text
DISCLOSED TO ANY THIRD PARTY, OR REPRODUCED IN WHOLE OR PART, WITHOUT THE PRIOR WRITTEN

AutoCAD SHX Text
THE EXPRESS CONDITION THAT NONE OF THE INFORMATION CONTAINED THEREIN SHALL BE USED, OR

AutoCAD SHX Text
THIS DRAWING IS CONFIDENTIAL AND THE PROPERTY OF PROCESS COMBUSTION LTD. IT IS SUPPLIED ON

AutoCAD SHX Text
CONSENT OF PROCESS COMBUSTION LTD.

AutoCAD SHX Text
BOLT HOLES TO BE EQUI-SPACED

AutoCAD SHX Text
UNLESS OTHERWISE STATED FLANGE

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
1,5mm

AutoCAD SHX Text
O TO 1000mm   

AutoCAD SHX Text
1,0 DEG.

AutoCAD SHX Text
ORIENTATION

AutoCAD SHX Text
0,5 DEG.

AutoCAD SHX Text
SQUARENESS 

AutoCAD SHX Text
-

AutoCAD SHX Text
+

AutoCAD SHX Text
-

AutoCAD SHX Text
OVER 1000mm

AutoCAD SHX Text
3,0mm

AutoCAD SHX Text
-

AutoCAD SHX Text
+

AutoCAD SHX Text
-

AutoCAD SHX Text
TOLERANCES UNLESS OTHERWISE STATED

AutoCAD SHX Text
ANGULAR

AutoCAD SHX Text
LINEAR

AutoCAD SHX Text
ABOUT MAIN CENTRE LINES.

AutoCAD SHX Text
THIRD ANGLE PROJECTION

AutoCAD SHX Text
THIS DRAWING PRODUCED ON A CAD SYSTEM DO NOT ALTER MANUALLY

AutoCAD SHX Text
DO NOT SCALE

AutoCAD SHX Text
IF IN DOUBT ASK

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
G

AutoCAD SHX Text
H

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
G

AutoCAD SHX Text
H

AutoCAD SHX Text
NOTE:-REMOVE ALL SHARP EDGES

AutoCAD SHX Text
80x65

AutoCAD SHX Text
415

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
415+100

AutoCAD SHX Text
138

AutoCAD SHX Text
80

AutoCAD SHX Text
160

AutoCAD SHX Text
3,2

AutoCAD SHX Text
PUMP

AutoCAD SHX Text
CASING

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
638

AutoCAD SHX Text
3,2

AutoCAD SHX Text
194

AutoCAD SHX Text
80x65

AutoCAD SHX Text
56

AutoCAD SHX Text
780

AutoCAD SHX Text
WATER SUPPLY 25NB

AutoCAD SHX Text
SPRAY NOZZLE/NOx

AutoCAD SHX Text
50NB

AutoCAD SHX Text
&AD R-ZE 2062

AutoCAD SHX Text
750

AutoCAD SHX Text
230

AutoCAD SHX Text
145

AutoCAD SHX Text
150

AutoCAD SHX Text
770

AutoCAD SHX Text
260

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
705+100

AutoCAD SHX Text
180

AutoCAD SHX Text
(TYP)

AutoCAD SHX Text
80NB

AutoCAD SHX Text
IMPORTANT NOTE. UTILISE THIS WATER CIRCULATION ISOMETRIC DRAWING IN CONJUNCTION WITH THE WATER FILL/NOx WATER ISOMETRIC AND WATER FILL AND COOLING PIPEWORK SKID G.A. DRAWINGS (P5184-0060/2), S01-51-PC-D-97356  AND S01-51-PC-D-97358 WHEN BUILDING UP THIS WATER SKID.

AutoCAD SHX Text
180

AutoCAD SHX Text
220

AutoCAD SHX Text
124 REF

AutoCAD SHX Text
150

AutoCAD SHX Text
612 REF

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
3,2

AutoCAD SHX Text
REF

AutoCAD SHX Text
124

AutoCAD SHX Text
REF

AutoCAD SHX Text
112

AutoCAD SHX Text
500

AutoCAD SHX Text
180

AutoCAD SHX Text
388

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
160

AutoCAD SHX Text
180

AutoCAD SHX Text
(TYP)

AutoCAD SHX Text
S01-51-PC-D-97358

AutoCAD SHX Text
S01-51-PC-D-97358

AutoCAD SHX Text
490

AutoCAD SHX Text
TANK NOZZLE

AutoCAD SHX Text
No. S01-51-PB-D-97120/1

AutoCAD SHX Text
453

AutoCAD SHX Text
N

AutoCAD SHX Text
1-P5184-0063 (2)

AutoCAD SHX Text
03

AutoCAD SHX Text
04

AutoCAD SHX Text
01

AutoCAD SHX Text
02

AutoCAD SHX Text
1:15

AutoCAD SHX Text
1

AutoCAD SHX Text
No. &AD C-ZE-3033/4

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

Kamal.Chohan
Typewritten Text
KC                                           KC

TSK161
SLStamp


	Sheets and Views
	P5184-0063 2-Model




